EARAROBEEIERT — 2 N— IBISH —F

20185F8H26H (H) 2mE/)\&E10H

il =m55 5005TF ¥5%3E (58 &R

‘ [R1%] & ‘ [REBE] — | Z (%) 20000 B

[A&4] 1 7 10,500,000 2 7% :4,200,000 33 :2,600,000 ™ 4 3%:1,600,000” 5 3&:1,050,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S _ 7 3 | BEREN 1:59.4 8-8-6-5 |34.4| 96.6 | 2 498 | BBZEE (ER)
11711 ¥ vy 7E=X 54.0 o o) |HEREH LY
LNn—ErIy— B:O-¥IXT1h J—HrTy—LA
;= S 4 | FIEBE= 1:59.4 6-6-4-2 |34.8( 96.6 | 1 430 | AAfREES (RR)
2|8|12| 7F1 bo—> S0 o) o | @ s-zenx
L—=5—29 7 BT AT MREH /—Zeix
S 32 4 4 | BOILUR—EB 1:59.7 2-2-2-2 [35.3]91.8 | 4 444 | BIET (BF)
EH 9| *M>¥avhiv~ 57.0 (1 3/4) (10) | AEEFIE
LN=—HNE BiHRY—FZ FE%S
@ g > 6 | EHB 1:59.9 3-2-2-2 |35.4|89.7 | 7 426 |HAKERE (ER)
4|5\ 7|FYEI-IE L (1 1/2) Co |0 A-23
LZFAT—IE By —%2I%145T HET7— L4
e e : AR
5156 @Y >34 X —HhZ [B] 5 %0 2.80).1 1-1-1-1 | 35.7|87.8| 3 ?2)2 mg@ﬁ(%i)
RV KYIYRIR BITYyIFaFa B4
= 4 3 | FRAKEA 2:00.3 4-4-6-5 |35.4| 86.2 | 10 | 494 |WAFAZ (RR)
EEB e o0 (1 1/4) (+1g) | TELER
R:Za—A>75>K B:FAILY—X> AE7 1 I L4usthatt
> i 5 | BEER 2:00.4 8-6-8-8 |35.3| 86.2 | 13 | 418 |/M&LME (k)
ARBRBECESE YRS 55.0 (1/2) (+4) | THEF
RFAOd=IEF B:x v ZFRU—L4 EvJdLy RT77—L4
= S 4 3 | JIXEA 2:00.5 4-4-4-5 | 358 83.8 | 6 428 | fEEE (BR)
Eﬂ 5|7V /7%y a 52.0 (1/2) (+10) | AL
R:IA>T7Fyoa B:R—%v hETZX =R e ]
= 3 # 5 | B. UKy S 2:00.5 10-10-10-10{ 35.3 | 85.1 | 9 476 | BEFIR (RR)
9lgli3| Z/N\hTLT 57.0 (742%) (+o) | REFE
R:T77NTZT B:TFATTRIAY J—HrTr—LA
. R 4 o7 | BRIELF 2:00.5 11-10-8-8 | 35.4 | 84.8 | 5 452 | FRBE (BR)
T 2 PIRE i 57.0 (7 £) (-4) |EBERF
LF=TANNT N Bih—=ZnNwvry pu e}
557w )% 4 3 | BEEE 2:00.6 13-12-11-11|35.2 | 84.0 | 8 464 | BERM (ER)
1 3| FTLZTyINL 54.0 (1/2) g | FHEE
LixAa1zGr—2 BiFLII-FT4T Ve S 4
- o4 | AEEN 2:01.7 11-12-12-12| 36.2 | 72.2 | 12 | 512 |AR—R (&X)
12 o | X/ RAA 57.0 @) (-p) |HL==
L:NAT—4—L FB:#2/N230T K R
Syx oS5 4 3 | mER 2:02.2 7-8-12-13 | 36.6 | 67.9 | 11 464 | FHY (FER)
13{7|10| SV ¥—¥7~ 54.0 A P
x4y agR—-5— B:7—-L)—"7J [Sgkie
@ 71 L
) 46.5-35.0
NaO>24 L | 12.8-10.9-12.5-12.8-12.2-11.7-11.5-11.5-11.7-11.8
@ 1—F—@&BIEf
13=7r= 6,9,7(5,8)12,10(1,11)-13-(4,2)3
20—+ — 6-(9,7) (5,8) (1,12) (11,10) (4,13) (3,2)
T=7= (¥6,9,7) (5,12) (8,11) (4,1)13,3(2,10)
40—+— |[6(9,7,12) (5,8,11)-(4,1)13,3-2-10
[ RN
B OB 1 360M 714K 11-12 230M e & 7-8 410M &R 9-11-12 880M
8 B 1 140/ 9-11 410 B & 11-12 460 3B 11-12-9 3,680
12 120 9-12 350M B H 11-12 1,050M
9 1709

ABICOVWTRDTEEERROODE. TR LIV,




